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1. oor® frEsEs FeerpiR Tee f - 1x8=8

Answer the following as directed :

(a) ST (! SHEIM HAAGT Rgges =12

Which of the following is not a subject
matter of macroeconomics?

() g T 9%
Increase in the aggregate price level
(i) T 9o Rew @R vftn 3
\ Increase in demand for a particular
commodity

(iii) SHTo TLAWH
Aggregate production
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(2)

(iv) <O IXAET 5 WA T

Total émployrnent rate of an
economy

(% TeIchr iR Tferear)

{Choose the correct answer)

(b) TES TE A2 I QNS TARIT o |

Write one example of stock and ﬂow‘
variables each.

(c) TR Fq©—= IF GNP T&O@ 1 ANLFH
AR S

The difference between GDP and GNP at
market price is due to

() IFA
export
(ii) ST
import
(iii) %% IR
net export
(iv) TR *A1 @Rl 4 TAMER Y

NFIA
(% e AR Sferen)

(Choose the correct answer)
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(3)

([d) TR OgI To SfOYR 2
The basic assumption of Keynesian
theory is

(i) 1 Frfe

full employment

(@) = e ¥

less than full employment
(ii)) o FRfeets QR
over employment -

(iv) @[T OIS T
None of the above

(o Teach! A Tfrsa)

(Choose the correct answer)

(e) Tt MPC =0-8, (3@ @fIesd I 23

If MPC =0-8, then the value of multiplier
is

) 4

(@) 8

(iii) 5

(iv) ST OIS TZ
None of the above

(wm Teco Ak Tferea)

(Choose the correct answer)
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(4)

(N WEF vEm= @ (B)=cw I
(C) + R IR (1) | (o1 & fomy o )
Aggregate demand = total spending (E)
= consumption spending (C) +
investment spending (I).

( Write True or False )
(g) TS >ifE =7 cafem
Inflation occurs when there is
(i) @ S 4[ AR 3@ o
in——=se in money and credit
(ii) 5= 4 @ ™
increase in aggregate spending
(i) TG AT W & A
increase in wages and cost
(iv) 879 BRI
- All of the above
(wm TeIcH! 1R Sferean)

(Choose the correct answer)

(h) TH FIOPFH Y@l 1$ 2
What is high powered money?

2. ©oq R Il BIRGR @*R© 53 GRe for @ 4x4=16

Write short notes on any four of the
following : ;

(@) IR S AP TS

Micro- and macro-economics
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(b)

(©)

(@

(e)

(S)

4$e GDP <[ quisfe GDP
Real GDP vs nominal GDP

ool P IE WH GEIPHR

Consumption function and its attributes

5’3 TN R o WH SRR

Say’s law of market and its implications

Functions of money

T il epepiyRe T fiell (2ifee e oo s foee)

Answer the following questions (within 500
words each) :

3. (@)

(b)

SR e e o i1l @ e [
{2 SwiEam weAies euRkerR Ry mam
901 2+10=12
Define macroeconomics. Explain the

evolution of macroeconomics as a
separate discipline.

347/ Or

wigfee SEEAT wdEifes Pre o I @
1Y 7 R SALNST Sorey WF Smernz
NIGIPZIRSSIN 1+6+5=12
Who was regarded as the father of
modern macroeconomics? Discuss the

objectives and limitations of macro-
economics.
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4. (a)

(b)

5. (a)

(b)

(6)

¢

71 Yo Ao ST P 2R T F1 |

R WF SIEdaIE ST FRFIS [
YOR (ORI, W S | 7+4=11
Explain the circular flow of income in a
two-sector economy. ‘In what way
injections and leakages influence the
level of economic activity? Discuss.

241/ Or

HOW ———iRNI7{ - KNS “Fafeco!
0 | T e i Feqe I 29 L
ofl SRR 2 7+4=11
Explain the value added approach to
measure GDP. Do you think that rise in

GDP leads to increase in economic
welfare?

smfs ofRw 7 AR i T S
TR I 0 D+4+5=11
What is aggregate demand? Explain the

components and determinants  of

aggregate demand.
%491/ Or

Rt i@ fan R o fHgb
Rfaea e G (e sz [fen
A RETR. SCEoT 41 | 2+3+6=11
Define investment. Distinguish between
gross investment and net investment.
Discuss the determinants of investment
demand.

(7))

6. (@ I WS A 52 ‘of Forses

7.

IS e S Seoime ©Geo! SCE0=1 41 |

3+8=11

What do you mean by ‘full employment’?
Discuss the classical theory of output
and employment in this context.

1241/ Or

() RPE W HF AT ©GE  SHIEABARE
BCATOAT SHT9[<COIE]T |

Critically discuss the Keynesian theory
of income and employment.

(@) =R @ ~ARTT OGO S F90

Discuss Fisher’s quantity theory of
money.

&1/ Or

(b) were feacaa Rac ops e fn
Explain briefly about the following :

(i) @R OEFANS ©F
Keynesian theory of
preference

(i) e o 9
Credit control measures

liquidity

* K K

11

11

6+5=11
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